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PART - A

Q.1. Answer ALL the questions

a. Draw the structure of histone association with DNA.

b. Differentiate between monocistronic and polycistronic mRNA.

c. How the stability of m-RNA can be maintained?

d. Define Beer’s and Lambert’ law.

e. Differentiate between mobile phase and stationary phase.
PART -B

Answer ALL the questions

2.a.

6.a.

Discuss with diagram of Griffith experiment and its conclusion.
Discuss with diagram of Hershey and Chase experiment and its conclusion.
(OR)
Discuss the initiation event of replication in prokaryotes with proper diagram.
Explain the Cot curve analysis with diagram.
Discuss the genome organization of eukaryotes.
Define C-Value? Discuss C-Value paradox with suitable diagram.
(OR)
Explain the process of nucleotide excision repair with diagram.
Explain the mechanism of initiation of transcription in prokaryotes.
Discuss the process of mismatch repair with suitable diagram.
Diagrammatically explain process of Polyadenylation.
(OR)
Illustrate in details about the role of snRNPs during splicing mechanism with
suitable diagram.
Write down the process of RNA editing with examples.
What is Spectroscopy? Explain the principle and instrumentation of UV-Visible
Spectrophotometry.
(OR)
Explain in details about the principle and instrumentation of Phase contrast
microscopy.
What is Chromatography? Explain the principle and instrumentation of HPLC.
(OR)
Explain the principle and instrumentation of Gas chromatography.
--- End of Paper ---
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